
We got this “steady” solution last class period
when we used initial conditions at time t=0:

Gill (1982)
chapt. 7.3

geostrophic flowWaves

c^2 = g*H

Recall that “a” in the exponential is
a = sqrt(g*H)/f



time-dependent   
          V

Wave Solutions:
complex i=sqrt(-1) exponential:

exp[i*wt]=cos(w*t)+i*sin(w*t)

linear and unforced
wave equation
with a wrinkle



Gill (1982)
chapt. 8.2

too much technical detail

removed 2024



Recall
c^2 = g*H
c/f = a

(w/f)^2  =  1 +   kappa^2 * (c/f)^2
(w/f)^2  =  1 +   kappa^2* a^2

Rossby radius a >> wavelenth 1/kappa

Dispersion
Relation


